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Practice Test - Black
S ;
Unit 2: Graphing eore 6

Goal 4: Students convert graphical, symbolic, and numerical representations of data

1. The points (-1,-4), (2,-6), and (6,0) are three

vertices of a rectangle.

a. What are the coordinates of the fourth

vertex? ( 3, 2) I "

(1pt) s 4 7‘-

b. Find the length of the rectangle's longest side? / X, { ¢
Express your answer in simplest radical form. N4
" 1, ¢ 2 _ X2 _
b+ 36 = x* {1pt) |
52 = x?%

o5z = [273 ]

2. What can be determined about the signs of x and y if (x,y) lies...

a) in the second quadrant? apn) /%<0 ard Y >0 I

b) below the origin on Thg y-axis? (tpt) =0 U}{ 0;

3. Weight varies directly with gravity. A person who weighs 150 pounds on Earth weighs 57
pounds on Mars. - _ 150

E b MK ‘-90 - 57

a. Write an equation that relates a person’s weight,

E, on Earth to that person's weight, M, on Mars. (tpry | E = I;Om

b. A person weighs 210 pounds on Earth. :
Estimate that person's weight on Mars. (pn) 210 = 150 ”

210-57 . 0
/50 M2 J0 pords
21.4 = M




Yo
'g You are the student manager of your high school soccer team. You are working on the
team'’s program guide and have recorded the height and weight of the team's eleven

players. * j.‘dmh‘c:] Ao minimom ond maximom of each dabo set o

help scale vour ayes.

Height [72 [70 [7t [70 |69 |70 |69 |73 |66 |70 |76 |min=6é
(in.) mox =76
Weight [190 [170 [180 [175 [160 [160 |150 | 180 |150 | 150 | 200 |min = /50
(pounds) Max= 200

a. Make a scatter plot of the data. Put height h on the horizontal axis and weight w on
the vertical axis. (2 pts)

R e '71 M 96 7 “’I\(mdﬁ)

b. Use a line of best fit to estimate the weight of a player who is 74 inches tall. (apm
J90 Foundf

c. Describe the r‘elaﬂbnship between the heights and weights of the team’'s members?
{1 pt) . .
As e P) /a,ﬂe,-; &?@Hr mncrease, fheic M}d‘\’('f 3,eaem./ { j

fnomace as wefl,



5. Use a table of values to graph the equations mentioned in the
following problem. Then, answer the question.

What is the humber of square units in the area of the region

bounded by the graphs of y=2{x] and y=—2|x’+4 3)

g2l g afal 4y

% |
-2,
0
2

A %

o o [/—lﬁsm‘/wﬁ;}
0 2 |0

Y oY

6. Use a table of values to graph the following function: y =%

X

(2 pts)

7. Re-write the following equation in function form. Then, use a table of valueg to graph the

. 1
function: %y=5x3+2 (3 pts)

ol s W

Y= x5+ 4

-4

3

4




4. _
#. On the planet of Creon, every creature is exactly the same height (80 cm), but no
_creature is the same weight, though the heaviest creature is 100 kg,

- _ \aJélaH"\‘
a. Graph the relationship between x, Ej}"“
the height of each creature, and y,
each creature’s weight. (p) 4@
) ' J
b. Write an equation for this graph? "f

{1 pt

. ¢. What is the Domain of this graph?:
Range? (zpts)

" Pomain @ ’X-":-QO

| Baxge © 0<y=|o0
“:':lbeg"'f}s' mdeﬁhcé‘(

J—

) rT

9. Two vertices of a triangle are located (-4,-2) and
(2.-2). |

A. If the area of the triangle is 9 square units, what
are all the possible positions for the third L
vertex? (2pts) T =1 ﬁ‘;?‘ -

s

/47-3&14& a'/aaj The [ines Y= [ or U:—.“f AP AmSs ??-f’ -
._.,45%:, ST,
B. What if the friangle is isosceles? (2 pis) i
# If 6 (s fle hypotewse,Be 3rd vertex
codd be at Cl1) or (1,-5), ;3= 3%+ &
# Trere are Y possibilifies if ke 2 equal 36=9+%°
cides of fie iSosceles %nhrale have 22=2"

[ergtvs of & wnifs. Nese pors]&:/:’#e-:f are 2J3= x

C4-343,-5) (24373, -5)
Gi-343,1)  (a+373, 1,



@ STeve IS making cratts to sell at a tair. It takes him? of an hour to make a wooden fork

9, (sre0s)

1 z e
and 5 hour to make a wooden spoon. He has 6 hours to work.

A. Write an equation to show the relationship
between how many forks and spoons Steve

can make in three hours. Let x= the humber
of forks and y = the number of spoons. ®

2 : - L
'5“7(-1—‘21"3-_61 b \'\

y %
. |
B. Graph your equation from Part A. @ %rés)
vhen ¥=0 y=I12 3 when 3:0,%‘:1-——"' ‘ o
- €. What is the x-intercept? What does it
represent in this situation? @
(7"0),: If he mokes O spoons, he can
' moke 9 forks

D. What is the y-intercept? What does it represent in this siTua‘rioh? @
(0,!2) IE he makes O forks, ke con make 12 Speons

s

N

E. If Steve works the entire 6 hours while making 8 spoons, how many forks did he make? (1)

ij':? S0 —.—‘;‘-x + 3'--8 26 :‘%‘- 7$’+'J=6 - %x.-:.z — X=3 B:Qrksx
\P o - N
@ . Blackbeard was standing at a point 5 steps.
East and 2 steps North of a booby trap, with
a fong rope in his hand. Holding oneﬁ in his

hand, he gave the other end 1o one of his men ) “?ﬁ
and directed him to walk é steps south and 8 et i LoD
steps east, He gave another rope to each of =it
two other men, instructing one o walk to a ) : T
.spot 6 steps due east and 2 steps due north /;" \\' -3
of his position. He told the third man to walk wr" YR NG
. to a spot that was é steps due south and 2 1 . o
steps due west. Blackbeard decided to bury a M, 2

freasure at the point where the two ropes

crossed. Determine the exact coordinates of

that "x" spot using algebra. (3 pts) ‘ :
Fiad an equd'ion foc bath lines, Tle ‘T'x-s'fa't “ /s on ordered
poit et (s a selition v bath equatiens.

Line } Lice Z
Er,gﬂal\ -H= l(‘x‘“) Eyyaﬁon: -2=z-3 (1\‘."-5')
= x-1+Y J 7 '
|J - =-_'§_x+.".§+2
= XK=7 j 1 y
J -2x4 22
Yy TTEE Y




12. A point is randomly selected from within the triangle having

O Stope of Line €M is  g--H 12
-3 -=ID -7

@ ridpoint of EH }5-(-3+-:o -q-f()
' . 2 2

(~¢5,2)

@ So fe. pexpadlwlw‘ 6:rec'far must  pas< fAro 'ﬁ‘

wifh « Slofé' of ~

I,.L/’\B

vertices (0,0), (1,3) and (3,0). What's the probability that the E\ ya
x-coordinate will be greater than the y-coordinate? (3 pts) fg %x
® Find «. .3 q L == 1 1
P X =%+ z A ¢
Findk ¢¢Iua:\"wn ot BC 2 4
lope = "= 2= '
slop 32, 2z : @Aﬂdﬂ AC’X =
4-3="3(x-1) XTs 1,3-4 . &2 }
Y q .4 2° 5 10
NT 2% g 373
TorAlL AREA =
(2 -the ordered paT for x ,g_ ;‘st)
s o sddion o " @l % .22
both gquections | so i ©- 9T
o et o e e e < e 2 . "
\%
4 Capture the Flag! The English and Hls'rory ' /
classes at Mathland High School are planning T T
to play a game of Capture the Flag in the L il
" woods behind the school. They've been - S A N T4
discussing how to fairly divide the woods AAGE A K
info two territories, as the game requires. \% A RE D
To help, they've drawn a map of the woods f;&f
on a coordinate plane. The English class s TSR
wants to claim the southwest territory of . SN ﬁ
the woods and puts their base at (-10,-4). T RS ]
The History class wants to claim the ?j S w417 = N
northeast territory, and plans to put their 7 R ' , P
base at (-3,8). Both classes agree that the ] : <
perpendicular bisector of the segment ' \,\
joining their bases would be a fair divider ol f
between the two territories. What is the Shelef 4
equation of that line in slope-intercept form? (3 pts) @ W . heck

-7 -2.132
2, .-l
‘3'2' 12;: 2
rdercept foron
@‘k""'____ A T
£65,2) 97 7% a4 o
7
{ 43
‘j:‘ 12 24 5\@‘:};\0&



" 48 Temperature Affecfs Running Speed: The optimal running speed af 60°F is 17.6 feet per
e

second. A person would slow down by about 3 fooT per second for every 5° increase in
temperature-above 60°F. -

« A. Write an e.qucmon that represents this s:‘rucmon in point-slope form. (1p+)
“Since” 'ﬁfmpaa:lwe affects S/a:d ® A :[qge_ would be how ruch

<
Speed 5 Fre  desesdedt variable, He <peed chavge per degree, S-l?.é=";0éé’—£€9
: T | Specd ] ' So s/ c=—_‘i- - 06
Co [ A okt pain wekaow rrEET
B. Now, write the equation in slope-intercept form. (pm)

§=1h.6 = ~.06T + 3.6 | S
LS‘— ~OLT + 2.2 o

C. What is the optimal running speed if the ouTS|de temperature is 80°F? @ p)
if 7=80 |

g= ~.0¢ (o) +21.2
= —4.2 +21.2 -ﬁé Y ek per Second/

\ * In point-slope form, write an equation of the line that passes through the given points

(2w,-z) and (ww-z)

(pt) o
O shpe= vz -2 @ Poick- Slepe Form
W~ 2w Y- (=)= - (x- 2w)
- W

~_~_w_’ 3+%—-l(x 2le

B. Now, write the equation in slope intercept form. (1 p)
\3 +2 = ~I (’Y 'ZW)
\.J +2 ==+ 2w

! \3 = ~lx +(3W"5)

W




a<s
16.If a <5, what must be true about 5 so that the line passing /,’/g, y;
through the points (a,b) and (2, -3) has a negative slope? (2pts) ﬂ(7/ A/

. _ 7
@, ‘J) an be /n erther SAada./ area. y a4V

Jo, if 1<a<5, san b<-3. LT
/:/’///f{/’

if a<l, b6>8-3. | _ ‘_,:,///,

17.You have $12 1o spend on fruit for a meeting. Grapes
cost $1 per pound and peaches cost $1.50 per pound.
Let x represent the number of pounds of grapes you
can buy. Let y represent the number of pounds of
peaches you can buy. Write and graph an inequality
to model the amounts of grapes and peaches you can

buy. (2pts)

Ple. #24

18. Write an inequality that satisfies the following criteria. The points (-3,5) and (7,9) are
on the boundary of the graph of the inequality and are solutions of the inequality. The

origin is a solution of the inequality. (pn

The  mfsrmation 1n The pmi/sm jiver He

folﬂ"lbn SAOM in Tle ‘71‘070[1
@ Fiad Tle ¢7uaﬁm of the line,
- C]-5 "{ - ..f-z-—

y=Fxtes

Y
Y= '5&“ - -é—,»‘l ~» 7 qbskhde (0,0)

e

\ \

\
\

¥ )

\
il
I

O<0+6% 2.

n Aeteomine fle siga. B
|j -—




19.Find the coordinates of the vertices of the triangle that is a reflection of the shown
Triangle through the line HI in the picture below. ( pts) O A line Sedmcnf' cannec‘Hﬂj a
flech wnt

U T pot o ke petlection pol

N 4 /Eﬂ/ mb"" be P”Pmd'wlar -fo H_I
JY?‘ of H-I = ; __’g__’ so all
/.5 Jine sejm‘f‘.r connacffhj po.\dr Jo

— Aeie  reflechon oty ¥ post
hoae  a s/ope of 'é‘,

@ Points ond reflecthion points
most bhe T same distonce

Son HE

g (’)q) !
F%WJG@ﬂJ

20.The hourly rate of your new job is $5 per hour. You expect a raise of 9% at the end of

each year. (3 ptstotal: 1 pt each)

A. Write an equation for your hourly rate, H, in terms /'/ = 5 {/,04)
of the number of years, y, that have passed.
H(#)
B. Graph your equation

g | H

Y

5
548
’ 5,94

(.48

0

2

3

419.66
Q 7.(9
C. At the end of your first year, you receive your first raise. What will your hourly rate

be at the end of\your fifth year?

¥ 769




